
Chapter 24 Financial Ratios
	LEARNING OBJECTIVES

1.
Compute and interpret the main ratios for internal financial management.
2.
Explain the Du Pont identity or analysis and its components.
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1.
Ratio Analysis
1.1
Ratio analysis is a technique of financial performance evaluation that identifies meaningful relationships between the components of the financial statements. The most commonly used financial statements for conducting the financial analysis are the statement of financial position and statement of comprehensive income.
1.2
Financial ratios allow for comparisons between:
(a)
firms

(b)
industries

(c)
different time periods for a company (that is, horizontal analysis)

(d)
an individual company and its industry average

2.
Financial Gearing
2.1
Financial risk

2.1.1
Financial gearing is the amount of debt finance a company uses relative to its equity finance.
	2.1.2
	Financial risk

	
	The greater the level of debt, the more financial risk (of reduced dividends after the payment of debt interest) to the shareholder of the company, so the higher is their required return.


2.1.3
Financial risk can be seen from different points of view.
(a)
The company as a whole – If a company builds up debts that it cannot pay when they fall due, it will be forced into liquidation.

(b)
Payables – If a company cannot pay its debts, the company will go into liquidation owing payables money that they are unlikely to recover in full. Lenders will thus want a higher interest yield to compensate them for higher financial risk and gearing.

(c)
Ordinary shareholders – A company will not make any distributable profits unless it is able to earn enough profit before interest and tax to pay all its interest charges, and then tax. Ordinary shareholders will probably want a bigger expected return from their shares to compensate them for a higher financial risk.
2.2
Gearing ratios


(Jun 14)
	2.2.1
	Financial Gearing

	
	Financial gearing measures the relationship between shareholders’ capital plus reserves and capital or borrowings or both.

1.
Total debt ratio =
Total debt
Total assets
2.
Debt-to-equity ratio

(Equity gearing) =
Total debt (preference share capital + long-term debt)
Total equity
3.
Equity multiplier (EM) =
Total assets
Total equity
(This ratio expresses a company’s total assets per dollar amount of stockholders’ equity. A higher EM indicates higher financial leverage, which means the company is relying more on debt to finance its assets.)

4.
Total or capital  gearing =
Preference share capital + long-term debt
Total long-term capital
5.
Interest cover =
PBIT or EBIT
Interest expense
6.
Interest gearing =
Interest expense
PBIT or EBIT
Note:

(a)
Since preference shares are treated as debt finance, preference dividends are treated as debt interest in this ratio.

(b)
For comparison purposes, the same ratio must be used consistently.

(c)
Capital gearing is used more than equity gearing.

(d)
Interest gearing is an income statement measure rather than a statement of financial position one. It considers the percentage of the operating profit absorbed by interest payments on borrowings and as a result measures the impact of gearing on profits. It is more normally seen in its inverse form as the interest cover ratio.


2.2.2
The ratios can be calculated on either book or market values of debt and equity. There are arguments in favour of both approaches:
(a)
Market values:

(i)
are more relevant to the level of investment made

(ii)
represent the opportunity cost of the investment made

(iii)
are consistent with the way investors measure debt and equity.

(b)
Book values:

(i)
are not subject to sudden change due to the market factors

(ii)
are readily available.
	Question 1

The debt-to-equity (D/E) ratios of four property development companies are shown below:

Companies

D/E ratio (%)

P

33.6

Q

19.1

R

43.3

S

103.9

Required:

(a)
Explain debt-to-equity ratio and its use.
(2 marks)

(b)
Rank in descending order of market value for the above companies based on the assumptions of the Modigiliani and Miller (MM) Model. S>R>P>Q
(4 marks)

(c)
When there are tax and bankruptcy costs, what does the MM Proposition I say?



(4 marks)

(d)
Explain part (c) by sketching a graph with firm value as the y-axis and debt level as the x-axis.
(4 marks)

(e)
Explain TWO reasons why the stock price of a firm usually drops when it announces the issuance of new shares. =1. Pecking ordering, 2. Dilute control or EPS, 3. Highest cost among all the financing
(4 marks)

(f)
Why is debt-to-equity ratio not normally used to compare banks? What would you expect its level to be when comparing the banks’ debt-to-equity ratio to the ratio of the property development companies quoted above?
(2 marks)



(HKIAAT PBE Paper II Management Accounting and Finance June 2014 Q5)


3.
Asset Management (or Utilisation) Ratios and Liquidity Ratios


(Dec 15)
3.1
Asset management ratios measure how efficient a company manages its assets. Asset management refers to the effectiveness and efficiency of asset turnover and asset utilization in generating sales revenue of a particular company.

	3.2
	Asset management ratios

	
	1.
Accounts receivable turnover period = 
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2.
Finished goods turnover period = 
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3.
Accounts payable payment period = 
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	3.3
	Liquidity ratios

	
	1.
Current ratio = 
[image: image5.wmf]s

liabilitie

Current

assets

Current


2.
Quick ratio = 
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4.
Profitability and Return

4.1
Introduction

4.1.1
Profitability and return ratios are probably the most widely used. They are key to any financial manager wanting to assess performance against objectives as well ass being crucial to the investment decision.
4.1.2
An external investor will also monitor these ratios closely when deciding whether to provide the company with finance and to assess the value of the overall business.

4.2
Return on capital employed (ROCE)

4.2.1
Considered to be a key ratio, ROCE gives a measure of how efficiently a business is using the funds available. It measures how much is earned per $1 invested.
	ROCE =
	Profit before interest and tax
	× 100%

	
	Capital employed
	


PBIT = Operating profit

Capital employed = Share capital + Reserves + Long-term loans

4.3
Return on equity (ROE) or return on shareholders’ funds



(Jun 10, Dec 15)
4.3.1
ROE measures how much profit a company generates for its ordinary shareholders with the money they have invested in the money.

4.3.2
It is useful for comparing the profitability of a company with other firms in the same industry.

	ROE =
	Profit after tax – preference dividends
	× 100%

	
	Ordinary share capital + reserves
	


4.3.3
ROE is similar to ROCE except:

(a)
PAT is used instead of operating profit

(b)
Shareholders’ funds are used instead of capital employed.

4.4
Profit margins



(Dec 14)
4.4.1
Depending on the format of the statement of profit or loss, you may be able to calculate the gross profit margin and operating profit margin as follows:
	Gross profit margin =
	Gross profit
	× 100%

	
	Revenue
	


	Operating profit margin =
	Operating profit
	× 100%

	
	Revenue
	


4.4.2
A comparison of the changes in the two ratios can often reveal more information about cost control and the changes in operating gearing.
4.5
Du Pont identity


(Jun 10)
4.5.1
Du Pont identify is an expression that breaks down ROE into three components:
(a)
profit margin – measures operating efficiency.
(b)
total asset turnover – measures asset use efficiency.
(c)
financial leverage – measures financial leverage.
4.5.2
Under Du Pont system:

	ROE =
	Net profit
	×
	Sales revenue
	×
	Total assets

	
	Sales revenue
	
	Total assets
	
	Total Equity


4.5.3
This ratio shows the earning power of the shareholders' book investment and can be used to compare two firms in the same industry. A high return on equity could reflect the firm's good management of expenses and ability to invest in profitable projects.

4.5.4
However, it could also reflect a higher level of debt finance (gearing) with associated higher risk.

	Question 2
(a)
What is the definition of return on equity? Decompose the return on equity to three terms with one term involving net profit margin and on term having assets in the denominator.
(4 marks)

(b)
Assuming the other factors remain constant, make use of the above decomposition and M&M proposition to explain why some level of borrowing is essential to improve the return on equity.
(5 marks)


(HKIAAT PBE Paper II Management Accounting and Finance June 2010 Q4(d) & (e)


5.
Effect on Shareholder Wealth
5.1
Earnings per share (EPS)



(Jun 12, Dec 12)
5.1.1
Basic EPS should be calculated by dividing the net profit or loss for the period attributable to ordinary shareholders by the weighted average number of ordinary shares outstanding during the period.

	EPS =
	Profit after tax less preference dividends

	
	Weighted average number of shares


5.2
Price-earnings ratio (P/E)

5.2.1
P/E ratio is the ratio of a company’s current share price to the latest EPS. A high P/E ratio indicates strong market confidence in the future profit growth of the company. Conversely a low P/E ratio indicates low market confidence in the company making a profit.
5.2.2
The value of the P/E ratio reflects the market’s appraisal of the share’s future prospects. If EPS falls because of an increased burden arising from increased gearing, an increased P/E ratio will mean that the share price has not fallen as much as earnings, indicating the market views positively the projects that the increased gearing will fund.
	P/E Ratio =
	Market price per share

	
	EPS


5.3
Dividend cover
5.3.1
It is a measure of how many times the company’s earnings could pay the dividend. The higher the cover, the better the ability to maintain dividends, if profits drop.

5.3.2
This needs to be looked at in the context of how stable a company’s earnings are: a low level of dividend cover might be acceptable in a company with very stable profits, but the same level of cover in a company with volatile profits would indicate that dividends are at risk.
5.3.3
To judge the effect of increased gearing on dividend cover, you should consider changes in the dividend levels and changes in dividend cover. If earnings decrease because of an increased burden of interest payments, then:
(a)
the directors may decide to make corresponding reductions in dividend to maintain levels of dividend cover.

(b)
Alternatively the directors may choose to maintain dividend levels, in which case dividend cover will fall. This will indicate to shareholders an increased risk that the company will not be able to maintain the same dividend payments in future years, should earnings fall.

	Dividend cover =
	EPS

	
	DPS


5.4
Dividend yield
5.4.1
Dividend yield is the rate of return a shareholder is expecting on an investment in shares of a company. Since shareholders expect dividend yield and capital growth, dividend yield is an important indicator of a share’s performance.

5.4.2
The yield will be influenced by the dividend policy of an organization; a company which has traditionally paid high dividends will be popular with some investors and this will be reflected in its share price.

5.4.3
From investor’s standpoint, the dividend yield indicates the return that an investor earns from holding shares in a particular company, and the higher the dividend yield the better. A low dividend yield might persuade investors to dispose of shares and invest the proceeds elsewhere.
5.4.4
If the additional debt finance is expected to be used to generate good returns in the long-term, it is possible that the dividend yield might fall significantly in the short-term because of a fall in short-term dividends, but also an increase in the market price reflecting market expectations of enhanced long-term dividends.
	Dividend yield =
	Gross DPS
	x 100%

	
	Market price per share
	


The gross dividend is the dividend paid plus the appropriate tax credit.

5.5
Total shareholder return (TSR)

5.5.1
This measures the returns to the investor by taking account of dividend income and capital growth.

	TSR =
	DPS + change in share price

	
	Share price at start of period


	Question 3
A company can finance its operation by issuing shares or debt. A company is going to finance its new facilities which costs HK$50,000,000. The existing net profit before interest and tax is HK$30,000,000 and it has 10,000,000 shares outstanding. Management is considering two plans:
Plan 1:
Issue HK$50,000,000 5% bond.

Plan 2:
Issue 5,000,000 shares for HK$50,000,000.

The new cash of HK$50,000,000 can generate additional profit before interest and tax of HK$20,000,000. The current tax rate is 16.5%.
Required:

(a)
Explain one possible disadvantage from the shareholders’ point of view when a company (i) issues shares and (ii) issues bonds respectively.
(4 marks)

(b)
Calculate the EPS under Plan 1 by including both the existing and new profit.



(5 marks)

(c)
Calculate the EPS under Plan 2 by including both the existing and new profit.



(5 marks)

(d)
Compare the results in parts (b) and (c), draw your conclusion.
(3 marks)

(e)
Explain one risk to shareholders in using Plan 1.
(3 marks)

(HKIAAT PBE Paper II Management Accounting and Finance December 2012 Q6)


6.
Debt Holder Ratios
6.1
Interest cover

6.1.1
Interest on loan stock (debenture stock) must be paid whether or not the company makes a profit.

6.1.2
Interest cover is a measure of the adequacy of a company’s profits relative to its interest payments on its debt:

	Interest cover =
	PBIT

	
	Debt interest


6.1.3
In general, a high level of interest cover is good but may also be interpreted as a company failing to exploit gearing opportunities to fund projects at a lower cost than from equity finance.
6.2
Interest yield

6.2.1
The interest yield is the interest or coupon rate expressed as a percentage of the market price. It is a measure of return on investment for the debt holder.
	Interest yield =
	Interest rate

	
	Market value of debt
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